Algebra Examinations of Governorates 2012

_cairo [§”  Mathematics department - Atmed Lotfy (E.LS)

0 Complete each of the following:
a) The solution set of the inequality - x >3 inR is .......... .

b) (125 - (24 =.......

c¢) The slope of the straight line parallel to x - axis is .............. .
d) The additive inverse for (1 —\[2 ) is ............

e) \[-64 + 16 = .......... :

Q Choose the correct answer:

a) Ifx=2+'5, y is the conjugate number for x then (x =y)* = ........ . (28 or200r 45 or 10).

b) ({8 +2)=....... (10 or 10 or 18 or \[18).

c)2 € (12,5] or |2,5] or {1,5}or |1,5]).

d) The radius length of a right circular cylinder whose volume is 40 7T cm? and
height 10 cm = ......... cm. (5.3,2,1)

e) The irrational number lies between 2 and 3 is ........... . (J10or\7 or2.50r\3)

Q (a) Find the solution set of the inequality: 1 <2x + 3 <5 in R and represent

it on the number line.

. . 1
(b) Put in the simplest form: —— \[80 —\[20 —\[25 + \125
@ (2) Find the slope of the straight line that passes by the ordered pairs (0, -3), (2, 1)
(b) Find the total area of a cuboid whose volume is 750 cm and its height 5 cm.
with a squared shape base.

e The following table represent the daily wages by L.E for 30 workers. Find the
arithmetic mean of that distribution:

Set. 4— 8 - 12 - 16 - Total
Frequency 3 5 14 8 30

| cairo ¥ i Khalia & Mokattam Educational Zone
Futures Languages Schools

Answer the following questions:

0 Choose the correct answer:
LQUQ\ = ....... a) J b)R ¢)Q d) {O}
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2) 64 +\T6 =.......

a) zero b) 8 c) -8 d)+8
H[-2,5]U]4,6] =......

a)[ -2, 6] b) -2, 6] o[-2.,6] d)]-2,6]
4. 1f (a, 2a ) satisfied the equation: 2x + 3y =24, thena=.......

a) 2 b) -3 c)—2 d)3
5.The mean of the values 4,7, 12, 13,8, 101s .......

a) 6 b) 8 ¢)9 d) 12

e Complete each of the following:
L[4,7]~ {47 }= .
2.4 cm, 7 cm and 5 cm are dimensions of cuboid, then its volume = ............. .
3. The S.S of the equation : x> + 9 =1inRis ...ccceouunnee.
4. If the lower limit of a set is 10 and the upper limit of the same set is 20, then its
center = ...
5. If the ordered pair (- 1 , 1) satisfies the relation —x + by =16, thenb = .............. .

€ (a)Ifx= 22 -\3y= 5 \ps NER find the value of the expression: (x +y)?
(b) FindinR the S.Sof : 8x — 17 = 6x + 11
e(a) By using the number line: If x=[-7,3],y=[-3,o][
Then Find: 1)xNy 2)x-y
(b) Find the slope of the straight line AB where A(-1,3),B(2,5). Is the point
8,1)E AB?
Q (a) The following table shows the frequency distribution of marks of 40 students in math:

Sets 5— 15— 25— 35— 45— Total
Frequency 7 9 12 8 4 40

Find the mean of this distribution.
b) Find the length of the radius, of the right circular cylinder if its volume 64 7t cm® and its
height 4 cm. Represent these data by broken line.

ﬂﬁ' Ahdeen Educational Zone - Mohamed Fared E.L.S

Answer the following questions:

€@ Complete each of the following:
a) The conjugate number of the number \|_7 —2 = e .
b) The median of aset3,7,9,5and 4 is ............... .
c) The S.S of the inequality: —x >3 in R is ............... as interval.
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A)[3T7]-4{3,7} = e .
e) If the straight line represents x—y = 2 cuts X — axis ,then x = ............
Q Choose the correct answer:

3
1) The multiplicative inverse of 5 1S e

@3 b) 23 OENH d) 36
)N ER— [1,2]

(a) € b) & ) C d)¢
3) The S.S of the equation : x*+25=0inR s .............
(a)5 b)+5 c)d d) -5

H{2 +\8 =
(a) \W) b) 4 c) 4\]_2 d) 3\]_2
5. The mode of values 2, 5, 8, 2,3 1s ..........
(a)4 b) 2 c)3 d) 8
© 2) Simplify to the simplest form: |16 — 54 — 128
(b) Find the value of k where (k, 2k) satisfies the , relation x +y =15
e a) Find the S.S in R of the following inequality:
—1 <2 x+3 <5, then represent the S.S. on the number line.
(b) Find the lateral area for a right cylinder of volume
924 cm?. and of a height 6 cm (7T = )
© I the following table find the mean of marks of 50 students in an examination:

Sets 2— | 6 [ 10— 14— 18— 22— 26— | Total
Frequency 3 6 8 10 11 8 4 50

ﬂw El-Zeitoun Directorate - Language School

0 Answer the following questions:
1. The volume of the sphere = ................

2\]_4_ 64 = ...

3. The S.S in R for the equatlon X2+4=01s .ovrennn. .
4. 12, 1[N [-2,1]= e

53 -2 rP+2{6 =

Choose the correct answer from the given ones:
1. The multiplicative inverse of J% 1S weeerieenn

ONH b) 23 ¢) 33 d) 36
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2) If the ordered pair (-1 , 3) satisfies the relation 3x -y =C, then C=.......

a)7 b) -7 c)6 d) -6
3) The S.S. in R for the equation x> =—8 is {....... }
a)2 b) 4 c)—2 d) 4
4. The cube whose volume is 8 cm?, the area of one of its faces = ....... cm’
a)4 b) 8 c) 16 d) 64
5. If The mode of the values: 4, a, 5,3 is 3, thena= .......
a)4 b)3 c)5 d) 6

Q (a) Find the value of k such that AB is parallel to y —axis where
A(6, 2) B (-2k, 4)
(b)IfA= |- ,3[ ,B=[-1,5]
Find the following using the number line. (1) AN B (2)AUB

O () Simplify to the simplest form:
J5 —\& -2
(b) =7 <4 x — 3 <5, then represent it on the number line.

6 The following is the frequency distribution of the weekly extra wages of 100
workers in a factory:

Extra wages 30- | 40- 50- 60- 70- 80- Total
No. of workers [ 10 K 20 28 20 8 100
(1) Find the value of k.

(2) Find the mean of this distribution.

cairo [ Rod El-Farag directory - Fatma El -Zahraa
Experimental language School

Answer the following questions:

0 Choose the correct answer from between brackets:
L1223 = (Bory3 or2\3 or(3)
2.[-2,3]-{2,3} = . ([-2,3[or]-2,3]or[-1,2]or]-2,3])
3. The ordered pair (3, 1) satisfies the relation .............
x-y=6,3x+ty=6,x-3y=6,x+3y=06)
4. The volume of the sphere whose diameter length is 6 cm = ............ cm
(9 7T or 2 7T or 36 T or 288 ) \]T
5. The multiplicative inverse of the number > 1S covereeriene

(%\|_2 or%\|_2 or\J__éfor—\I;)
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Q Complete the following:

1. If 3\| x =3, thenx=.........

2. The S.S of the inequality —3x +2 > 11 is ..............
3.The cube hose lateral area is 36 m?, its volume = ................

4.1fx <15 <x+1,xEZ thenx = ...
5. If (k, 2k) satisfied the equation 2x + 3y =24, then k = .....

9 (a) If the straight line that represents the relation y —x = a cuts y — axis at (k, 3).

Find the value of a.
(b) Find the S.S of 2x — 1)’ — 10 =54
X+ y
y

O ifx= 22 -3 andy= ﬁ, then calculate —
L 31
(b) Simplify: |54 -2 \J;— \[16
e From the following frequency table.

Sets 10- 20- 30- 40- X- 60- Total
Frequency 12 15 25 27 |K+4 4 100

Find 1) the values of both X and K.
2) The arithmetic mean of this distribution.

| _cairo 5% E Nozha Educational Zone, El Sayeda Khadiga

Language School
€ Complete:
1) The multiplicative inverse of the number \lz 1S= e,
2.[0,21U[1L,5[= e, . 12

3. Ifx=\[3 +2 ,thenx'=.........
4. The arithmetic means 0f 3,2, 7,9,9 1S ...ccce......
5. The mode of 8,2, 1,8, 1,8is= ......... .

€@ Choose the correct answer:
1. If the volume of a sphere is 33—2 7t cm? ,, then its radius length = .......... cm
{1,2,4,16}
2.3\|2+3\|2: ............. . {3\]3,%\|4,3\|893\]16}

3. If A, B and C are collinear, then the slope of <B_C> = e
4. The median 0f 9,6, 8, 7,2 1S ccceveneee. {6,7,8,9}
5. The irrational number between 2, 3 is .......... . {\]ﬁ), \]_7 , \]1_5, \]_3 }
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© 2) Put in the simplest form: \[48 - 2\27 - 6%

b) Find the lateral area of a right circular cylinder whose diameter length is 4 cm
and its height = 10 cm
9 a) Find the S.S of equations:
(1) 211_6 x=38 (i) (x +2)*=-8
(b) Find the S.S of inequality: 1 <1-2x< |-7|
e a) Find the slope of the straight line AB where A(5,0), (0, 2).
(b) The following table shows the frequency of marks of 50 student:

Sets 2- 6- 10- 14- 18- 22- 26- Total
Freq. 3 6 8 10 11 8 4 50

Find the Arithmetic mean of the marks of the students.

ﬂ” Rod El Farag Educational Directorate
Ahd Gedid Language School

€@ Choose the correct answer:

1. \]1_2 - \|_ = e

(@3 b3 SENE d) 33
2.]1-1,2[-[14]= i

(@) ]-1,1[ b) {-1,1} c)]-1,1] d)[-1,1]
3. The multiplicative inverse of _2 1S wovereene

3 b) 63 YNE d)-23

@\ )63 N3 )23
4. The median of a set of the values 3,7,2,9, 51s ............

(a) 6 b) 5 c)7 d)3
5. The mean of 5, 6,2, 71S ..cocvvne.

(a)4 b) 5 c)7 d) 6

Q Complete:

a) The ordered pairs that satisfy the relation 2x — 3y = 6 are (0, .......... ) I ,0)

b)[3,5]-4{3,5}= e
¢) The S.Sofx*+4=01s .............

d) {64 —T6 = oo

e) The conjugate of 2 —\[5 is ..........

© (2) Simplify : |3 7 -
22

(b) Find the volume of cylinder with base raduis 7 cm and its height 10 cm 7T = -
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O o 1rx=5 +2, Y=5 - 2. Find the value of (x + y)*
b) Represent the following relation graphically x—y =1
e a) Find the S.S of inequality of —1 <x + 3 <5 interval
b) Find the mean of the following date.
Sets 10- 20- 30- 40- 50- Total
Frequency 10 20 25 30 15 100

ﬂ[y El-Zeitoun Directorate - Language School

c Answer the following questions:

4.1-2,1[N[-2,1]=....

5 (N3 -2 P+2{6 .

€@ Choose the correct answer from the given ones:

1. The multiplicative inverse of\]% 1S ¢

(a)\[3 b) 23 c)3\3 d) 36

2. The S.S in R of the inequality —x <0 is ........

(a)]-,0] b) ]-, 0 )]0, 0] d)[0, [

3. The S.S in R for the equation x*=-81is { ............ }
(a)2 b) 4 c) 2 d) 4

4. The cube whose volume is 8 cm?, the area of one of it's faces = ....... cm?
(a) 4 b) 8 c)16 d) 64

5. If the mode of the values: 4, a, 5, 3,is 3, thena= ............
(a) 4 b) 3 )5 d) 6
2
€ @Iifx= J3 {3 .y= W Find the value of the expression: (x —y)?
(b) IfA= ]-o,3[ , B=[-1,5]. Find the following using the number line

(DANB (2)AUB
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Q (a) Find three ordered pairs satisfy the relation 6 x =1 -y

(b) =7 <4 x -3 <5, then represent it on the number line.

e The following is the frequency distribution of the weekly extra wages of 100
workers in a factory:

Extra wages 30- 40- 50- 60- 70- 80- Total
No. of workers 10 k 20 28 20 8 100
1) Find the value of k.

2) Find the mean of this distribution.

| _cairo [EJ” | salam Education Zone - Anwer Al Sadat Exp.

Lang. School
Answer the following questions:
€ Choose the correct answer:
1. If . i > is a rational number , thena # ........ (3,5,-2,zero)
2. The mean of the values 7, 15,19, 14and 15 is ........ (14,15,16,17)

3. The slope of the constant straight line is ........

4. The multiplicative inverse of\lz IS eeeeenns —E L6003 ,203 ,-23
5. The modepofthe values 3, 5, 3 ,66, 3and 8 is(= 6 ...... .\]—(3 , ;],—6, 8) \]— )
Q Complete:
1. The solution set of the equation: x> +4=0inRis ...........
2. The multiplicative neutral in R is ..............
3.[-L5]-1-1,5[= e
438 = .
5.1f x<\]1_5<x+ I,x&Z,thenx=..........
9 a) Find the solution set of the inequality:
X —3 >4 in R and represent it on the number line.
b) Simplify: \[32 —\[72 + 6\|§
e a) Find the volume of cylinder with base radius length 7 cm. and its height 10 cm.
(=2
b) If the straight line AB // x-axis where
A(1,8),B(-7,4K).Find k.
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e a) Find the mean of the following data:
Sets 8- 12- 16- 20- 24- Total
Frequency 4 10 16 12 8 50

b) Simplify : (\| 5 —\ 2 )*+\/ 40

| _Giza_ [ Omrania Zone - El-Sadat E.L.S

Answer the following questions:

€@ Choose the correct answer:
1) If the volume of cube is 64 cm?, then a lateral of = .......... cm?. (4, 8, 64, 96)
2) 3% + Y 2= e (32 ,2.22.4\2)
3) The relation y = 3 is represented by a straight line cutting the y— axis at ............

(3,0),(3,0),(0,3),(0,-3))

4) If the mode of 7, x +2,51s 7, thenx = ......... (7,5,2,12)
5)3€ .......... (13,5[,]10,3[,{1,5},]11,5[)

Q Complete each of the following:

1)]1-3,2[ N R =,

2)If Y x =9, thenx ...

3) The S.Sof the -X >3 in R is .............

4) The median of 3,7,2,5and 4 is .............
5) The volume of the sphere whos radius length [21 s ..........

O ifx= 22 -\3 vy-= ﬁ Find the value of (x + y)?
(b) Find in S.S of the inequality and represent on number line 7x — 12 > 5x — 8.
. . 1
O (o) Simplify =2\[T8 + 50 - = 162
(b)IfA=]-1,3]and B=[0,5].
Find each the following using the number line: ANB A-B.

e (a) Find the slope of the straight line AB where
A(_657) s B(O,Z)
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(b) The following table shows the frequency distribution of marks of 100 students

in math:
Sets 10- 20- 30- 40- 50- Total
Frequency 10 20 25 30 15 100

Find the mean of frequency table.

| Giza  [R)% Omrania Educutional Directorate
El-Neel Language School

0 Complete:

(a) The solution set of inequality -3 <-x<3 inRis...........

®[-1,3]1-{3}= ...

(¢) The sphere whose volume is 36 7t cm’ its radius length = ........... cm

(d) If the lower limit of a set is 6 and the upper limit of the same set is 10, then its
centre = .............

(e) The conjugate number of the number

2 :
\|_5'\]_31$ .............

€@ Choose:
a) (34 +2 = .ccec... . 32 .22 .3,2)
b) 2,5 [UJU{2,5}= . @ .,{2,5},[2,5],(2,5)
¢) The real numbers R=........... (R, UR, QN Q",] -, © [R, U {0})
D2 3 P26 = (RyUR.,QNQ",[®,x[,R, U {0})

e) The slope of the straight liney =1 is ..........
(=1,0, 1, undefined) |
e a) If x=\| 3 +\| 2 ,and y=———, find the value of x* + 2xy + y?

SR
. n 3 3 3 3 L
b) Simplify: \[16 — |54 — \[128 + \/:

O (@) Find inR , the S.S. of the inequality 4 x —3>—-7,

then represent it on the number line.

(b) Find the slope of the straight line €D where C (0,-3),D (2, 5)
e (a) The following is the frequency distribution of the weekly extra wages of 100
workers in a factory.

Extra wages 30- 40- 50- 60- 70- 80- Total
No. of workers 10 14 20 28 20 8 100

Find the mean of this distribution.
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Alexandria [P Sunshine Language School
Wasat Educational Directorate

a Complete:
. [-2,6]N[2,7] ==.........
2. The additive inverese of 2+ 3 iS .oervverneee.
3.Ifx< \]1_5 <x+1,x€z,thenx=......
4. The mean of the value 1,4, 5, 10is=..........
5. The slope of the straight line x =2 is ..........
€@ Choose the correct answer:

1) A sphere of radius 1 cm, then its volume is .......... cm’.
a) = b) T o) A d) 3n
2 6 )
2) The value of the number \J_— 1S e
7-\5

NTF OTHT OnT OfFT

3) The multiplicative inverse of 41_% 1S eeeereeenns

a) 2\ b) 57 SNE d)\[T0
H[2,7]1-{2,7}= e
a){2,7} b) ¢ ©)]2,7] d)12,7[
)3 +{3 =
a) 3 b2\ 3 o\ 9 6
o Simplify: If the straight line
y =2x+ 3 cuts
x — axis at A and y— axis at B

Find the area of A ABO where O is the origin.
e Find the S.S in R of the following:

1)3x—1>8
2)(2x—1)*=8

e The following table shows the weekly wages in pounds of 50 workers in a factory:
Sets 5- 15- 25- 35- 45- Total
Frequency 7 10 12 13 8 50

Find the mean of the wage of the worker in pounds.
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Alexandria fKJ” wid Educational Zone - El Orwa Exp. School

€@ Choose the correct answer from the given ones:

1
(a)T 20 = ... [\]?,\|10,2\|?,5\]7]
(b) The cube whose volume is 250 ¢cm® , the area of one face of this cube = .........
cm? [50,125,20 2 ,253 4 ]

(©)If]-,2TU[2,0[= ..
(R,R-{-2,2} ,R-[-2,2],R-]-2,2])

(d) The next numbertoy| 2 ,\ 8 ,\ I8 ,\32 iS.....c..

[\]40 ,\|42 ,\]50 ,\]38 ]

(e) The mean of the values 24 , 25, 22,23,29=......... [23.24,24.4 ,24.6 ]

G Complete the following:
(a) Ifx€ [2,3]=,then2x+ 1€ ... P 5 eerreens ]

(b) If the slope of AB is equal to the slope of BC then A, B and C are ........

(c) The multiplicative inverse of 4_% T

DIfx=N35 +{3 Jy=N35 —\3 ), then (xy)’= errrccrr

(e) The mode of the values 23, 32, 33, 22, 24, 32, 23, 24, 33, 22,32 is .........

e (a) Put in the simplest form:

— 0 20 35 |15
2
(b)a- Ifx = \]_ + \|_ ,Y = \|—7 n \|_ , prove that x and y are conjugates, then

find the values of x> — 2xy + y?

9 (a) Find the solution set of the inequality 7x — 12>5x -8 ,in R , in a form of an
interval.

And represent it on the number line.

(b) Graph the relation x — 2 y = 1, then find the slope of straight line

e (a) Find the radius of a right circular cylinder whose volume is 40 7t , and its height
is 10 cm?
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(b) The following table shows the frequency distribution of the marks of 100

students in the exam. Find the mean of the student's marks?

Sets 10- 20- 30- 40- 50- Total
Frequency 10 20 25 30 15 100

| Menofia W% Equcational Shebeen Elkom Directorate - Idel School

Answer the following questions:

€@ Choose the correct answer:
D[2,6]-{2,8}= ...

a) @ b) {2,6} ©)[2,6] d)]2,6]
2) N = {64 e
a) 4 b) 16 c) 64 d) - 64

3) The ordered pair (0, -3) dose not satisty the relation ..........

a)2x +3y=12 b) 2x -3y =12 c)3x-4y=12 d)3x+4y=12
4) The S.S of the equation x> -9 =0 ine R is ..........

a) {3} b) { -3} c) {£3} d) g
5) The multiplicative inverse of the number \1:2 1S cevveene

3
2)2\3 b) 32 ¢) 32 d) 4_7

QComplete
@ [3,°][N]-1,8]=.......
(b) {3 + 24 -3[BT = .o
(c)\]? X\]_ \| ........

(d) If the lateral area of a cube is 100 cm?. then its volume = ..........

(¢) The number \| 29 is included between the two consecutive integers ....... and ......

O @) Iifx= N7 +{3 .v= \|_ el Find the value of x> + 2xy + y?
(b) Find the S.S of the following inequality 2x + 8 >3x—5>2x—8,in R in a form
of an interval , then represent the S.S on number line.
O »)IfAQ2,1),B(3,-1),C(0,5)AreA, B, C collinear.
(b) Find the volume of the cylinder whose radius length is 21 cm and height 4 cm,

. 2
then find its lateral surface area. ( 7T = 7)
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e From the following frequency distribution draw the histogram and from the draw
find the mode.

Sets 10- 20- 30- 40- 50- 60- Total
Frequency 15 15 20 25 15 10 100

Draw a bar chart for the frequency table data.

| Gharbia JEJ Samannoud Educational Directorate
Samannoud Experimental Language School

Answer the following questions:

€@ Choose the correct answer from the given ones:

1) The irrational number ........ lies between 2 and 3.
2) 4 b)2 SNE d) [T0
2) [3,7]-43,7}= e
a) {0} b) & c) [3,7] d) 13,7[

3) The slope of straight line parallel to y— axis is ...........

H 2 3 =
a) \[® b) {3 )3 d) 4

5) The mode of the values: 4,5, 6,4 and 7 is ...........
a)4 b) 5 c)6 d)7
Q Complete each of the following:

a)If: —x>zero,then S.SinRis .........

b) The radius length of a sphere whose volume is % Tem?=............

¢) The multiplicative inverse of the number \5—2 is ...........

d) The arithmetic mean of the values: 4 , 6, 8 and 10 is ..........
¢) The median of the values 5, 10, 8, 12 and 11 is ..........
e (a) Find the slope of AB where A (7, 2) , B (-2, 0)
~J5 _ _2 g A2 2
(b)IFA=5 —\3 ,B +~ - Find the value of the expression: A*— 2AB + B
e (a) Find in R the S.S of each of the following

1)3x+5>2 2)x>+3=19
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(b) Calculate the radius length of the right cylinder whose volume is 2156 cm® and
its height is 14 cm. (7T = %)
e (a)Ifx=[-3,2[ andy= [-1 ,4 ] , find in the form of interval using the number

line each of the following:

) XNY 2)X-Y
(b) The following table shows the frequency distribution of marks of 60 students in
an exam .
Sets 5- 10- 15- 20- 25- 30- 35-
Frequency 2 5 15 20 13 5 1

Form the ascending cumulative frequency table and represent it graphically.

_Behera RT3 Rasheed Education Zone - Rosetta Language School

€@ Complete:

a) {64 - 16 = s

b) The ordered pair (3, .....) satisfies the relation x - 3y =9

)[-1,51N [3,7]= e
d) The median of 23,42, 17,30 and 20 is ....................
e) If the lower limit of a set is 4 and its upper limit is 8 then its centre is ................

Q Choose the correct answer:
a) The conjugate of the number \]_ - \]7 1S ceeererierieens
N5 N2 .5 N2, 25,2 )
b) The multiplicative inverse of% 08 oo O3, 23 6.\
c¢) The volume of the cube of side length 3 cm is ....................
Bem?®,27cm’,27cm, 9 cm)
d) The mean of4 ,5,6,8,21S cccceeevvreeunennns (4,5,6,7)
e) The S.S. of the equation X> = 64 is .................... where X € R(4, 8, {4}, {8})
1
Qa) Ifa:\lTJr\l?,b:W find the value of a + b
in the simplest form.
b)IfA(-5,6),B(1,3),C(3,y)are collinear, find the value of y.
a a) Find in R. The S.S. of the equation \]Tx -1=5
b) Find the volume of right cylinder whose height is 6 cm and length of its base
radiuszizs 1.4 cm
(= KB )
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e a) Find S.S. in R of the inequality -1 < 2x + 3 <7 and represent it on the number line.

b)
Sets 2- 6- 10- 14- 18- 22- 26-
Frequency 3 5 8 10 7 5 2

Using ascending cumulative frequency table to get the median.

Damietta Jly#” Experimental Language School

Answer the following questions:
€ Choose the correct answer:
a) The relation 10 +y = 5x is represented by a straight line cutting x - axis in at ......

((2,0),(-2,0) ,1(0 ,2),(0,-2))
b) The irrational number between 3 and 4 is .................... 3.5, < \]ﬁ . @ )
c) The mean of marks of 5 pupils is 30 then the total of their marks is .................

(6,25,35,150)
d) The S.S. X >3 N RS wrccrrrrrerrreeen (31, 3,K, 1¥, 3], 1K, -3))

) The S.8.\/2 X=2inRiS wcoverrrrrrrerneee. N2 .22 .,2,9)

Q Complete to form a correct statement:

QU Q= oo,
3
D) If U X = N% then X = oo
¢) Complete using e or ¢ 103 x 107 ........c......c... R,

d) The median 23,13, 15,30, 11 1iS .cccveeeurrennnnenn.
e) If the lower limit of set is 8 and the upper limit of the same set is 14 then the
CeNter 1S cuvveeuveeeeennnee.

€© 2) Prove that 2432 _\50 _ %\|162 -0
b) If the slope of the straight line passing by (-1, 3), (x, 2) is undefined find x.
Q a) Find the S.S and represent on the number line 15 < 5X <30 where X € R.
1
b) IfA:\I?Jr\]T, B =731z find value of A2 B2,
e a)If X=[0,3],Y=]0, 7] find the following using number line.

a) XNy b XUY
b) The following table shows frequency distribution for the scores of 40 students
in an exam.
Set 30- 40- 50- 60- 70- | 80- | Total
Frequency 3 4 12 8 7 5 40

Graph the frequency histogram, then find the mode.
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| Port Said [RY% South Education Administration
El-Fayrouz Modern School

Answer the following questions:
€ Choose the correct answer:
1) The irrational number which lies between 2 and 3 is ....................

a) \10 b\ 7 €)2.5 d\3

2) -5 X, -6[
a) € b) ¢ c)C d) ¢
3 1T+N2 o, J3
a) < b) > c)= d) >
4) If the ordered pair (-1, 3) satisfies the relation 3X -y=C Then C = .................
5) The surface area of a square whose side length is \]T S e cm?.
a) 43 b) 9 ¢)3 d) 6

Q Complete:
1) The intersection point of the ascending and descending cumulative frequency
curves determines .................... on the sets axis.
2) & =

3) The lower limit of a set is 4 and its center is 9 , then its upper limitis = .............
4) If the ages of 5 students are 13, 15, 16, 14 and 17 years old, then the mean of
their ages = .......cccveeneee. years.

)PBLIN U {9 = e,
©o)if x- _\174_\13_ N NE
Prove that: x and y are conjugates, then find the values of:
a)(x+y) - b)xy
b) If the slope of the straight line AB is 7 where A (1, 2), B (3, x) find x.
Oairx=12.3],y=[1,5
Find the following using the number line
a)x Uy b)x Ny

b) Find the solution set for the inequality 3x -1 <5, in R in the form of interval, then
graph the solution on the number line.

e a) The volume of a sphere is 562.5 7t cm®. Find its surface area.
b) The following table shows frequency distribution of the daily wages of some workers.
Sets 5- 10- 15- 20- 25- | 30- | Total

Frequency 10 14 24 30 12 10 100

Required: Graph the descending cumulative frequency curve.
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PortSaid [V he official Experimental school for L.g

Answer the following questions:
0 Choose the correct answer:
1) The median of the numbers 3, 6,2,4,9 is .................
(a)2 b) 6 c) 4 d)9

2) The mode of the values 3, 5,3, 6,3 1S ...cceceuneen.
(a)3 b) 5 c)6 d) 8

3) Which of the the following ordered pairs satisfies the relation 2 x +y =5
(a) (-1,3) b) (1,3) ) (3,1) d) (2,2)

4) The additive inverse of (7 - \[2 ) iS ...covvvvvnvs
@ (7+2) b(7-2) )2 -7) A5

5) The S.S of the equation: x>+ 16 =01in R is .................
(a)+4 b) -4 c)4 d)

@ Complete:
DR, N[-1.3]........
2) 64 -\16 = oo
3) The S.S of the inequality - x >3 in R is ...........
4) [1.7]-{1.7} = cce...
5) If the volume of a cube is 27 cm?, then the length of its side is ...........

€ (a)ifx= N5+ -2 .y=1y2 -2, then find the value of:

Xty

Xy -1

(b) If the slope of the straight line AB in % where A (3,5), B (-3,4) find the value of y

mWDirectorate of Education - Eimanar Language School

Answer the following questions:
€@ Complete:

a) If 3\|?=5thenx= ............
b) (k,2) satisfies the relation 6 x + 5y =13 thenk = ...........
¢) The conjugate of 5 -\[7 is ..........
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d) The S.Sofx>+25=0inRis ...........

e) If the lower limit of a set is 4 and the upper limit of the same set is 10 then the
centre of the set = ...........

Q Choose the correct answer:

) R Q (3.3 .\ 16,38)

b) {X:X - R‘ X > 0} (R+9 R_a R* D R)
¢) The multiplicative inverse of \|z 1S oo ('\]% ,6\3,2{3.-2{3)
6
d) If the mode of the values 3,5, x+ 1,5,3, 1 is5Sthenx = ..............
(5,4.3,0)
e) If the edge length of a cube is 4 cm then the volume of a cube = ................. cm’

(4,16 ,64 , 12)
€ (2) Find in R the S.S of:

4 <3 x +4 <7 and represent it on the number line.

(b) If:

A= 3+\]_2,B

1
= \]_3—+\]_2 Find the value of A? + B2
Q (a) Find the slope of the straight line that passes through the two ordered
pairs (2,0), (0,3)
(b) If:
X:]—OO‘4]’Y:]—2’7]
Find each of the following using the number line:
HXNY HXUY 3)HX-Y
6 (a) Find the volume of a right circular cylinder its radius length 7 cm and its
. . 22
height is 10 cm. (7 =7)
(b) Find the mode of the following table:

Sets 2-— 6— 10— 14— 18 — 22 —
Frequency 3 5 6 10 7 2
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&W South Educational Zone - Futures Languages School

Answer the following questions:

0 Choose the correct answer:

DQ N Q oo
(a) {0} b) & c)R d)Q
2) The mean of the value 7, 15, 19, 14 and 15 .................
(a) 14 b) 15 c) 16 d) 17
3) If the volume of a sphere 32 7t cm’, then its radius length = ................. cm
(a) 14 b) 2 c)4 d) 16
4) [-1,3]-{3} =
(@ ]1-1,3[ b)[-1,3] ¢)]-1,3] d[-1,3[
5) The S.Sof x*=16=0,X E Q1S sceovervruenee.
(a)4 b)+4 c) 16 d) 8
@ Complete:

1) The mode of the numbers 6, 10, 8, 4, 6, 7, 6 equals ............

2) The additive inverse for (1- \]_2 ) I

3) The slope of the straight liney =2 is ............

4) 1= 2]U[=3,0[=.........

5) The solution set in R of the inequality 2 x + 3> 13 is ............
Q (a) Put in the simplest form:

3 1 3 9
18+3 [— -8 -
K | - - \3 \l
(b) Find the solution setin R 2x + 3)* +4 =12

0 (a) A right circular cylinder of height 10 cm. and its volume is 1540 cm®. Find its
total area.

(b) Find in R the S.S. of the inequality 5 x +7>2 x - 11

e (a) Find the value of k where (k,k) satisfies the relation 2 x +y =12
(b) Find the mean of the following table:

Sets 5— 15— 25— 35— 45 — Total
Frequency 7 9 12 8 4 40

http://www.aladwaa.com Liad g 19} it byttt iy a3t ((C 175 %)



| Fayoum PPF [slamic Language School - Nafessa Elhosary

0 Choose the correct answer:

D4E .
(a) -3 o b) J-».3[ ¢)(3,5) d) 14 .
2) The slope of the stright linex =1 1in ................
(a) -1 b) 0 c)1 d) undefined
3) The mean of the numbers: 7, 8,3 and 6 is .................
(a5 b) 6.5 c)6 d) 8
4) If the volume of a sphere = 36 7t cm?® then the radius is ................. cm.
(a) 4 b) 27 c)-3 d)3

5) The multiplicative inverse of \E IS corerierieens

6
()3 b) {6 032 d) Nl

@ Complete:

1)3\|-_64 +\]T6= .................

2) The mode of the values: 5, 3,8, 5and 9 is ............
3) The S.S in R of the equation: x> -5=01is ............
4) The conjugate of the number

in the simplest form is ............
EEE

5) The median of the values: 3,9,2,7,6 and 11 is ............
Q(a) IfX=]-14],Y=[2.«[Find: ) XNY 2)XUY

(b) Find the solution set of the following inequality in R -3 <2x-1<35
then represent the S.S. on the number line.

0 (a) Put in the simplest form:

(b) Find the volume of the right circular cylinder of radius length is 7
cm. and its heightis 10 cm. (& = %)

e (a) IfA (-1,2), B (3,0), C (k,-1) are on the same straight line find the value of k

(b) The following table shows the frequency distribution of weight of 40

children in k.g:
Sets 5- 15— 25— 35— 45 — Total
Frequency 7 9 12 8 4 40

Calculate the mean of weight of children
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